On Mashup Load.

<IDOCTYPE html>

<nml xmlns="hEtp://ew.w3,org/1999/xAtml">
b <head>..c/head>
v<body id="runtime" class="pc from-builder” style="background: #c5c3cB; filter: none;” data-new-gr-c-s-check-loaded="14.1873.8" dats-gr-ext-installed>

¥ caly class="runtime-wrapper”s..cfaivs

» <diy id="mashup-toolbar-resolution” style="z-index: 20081;">.</div>
»caiv id="generic-entity-picker” style="display:none;”>.</div>
text/Javascript” src="./mashup-vendor-runtime.is? v=9.1.6"»</script>
rak/sCripty

dvanced-widgets-runtine-pre.js? v=

.1.6">¢/script>
L1.6"3¢/scripty
cvanced-widgets-vendor-bundle. j53 v=-8.1.6">¢/script>
src=". /advanced-widgets-bundle.js? v=0.1.6">¢/script>
aduanced-widgets-runtine-post.is? v=9.1.6">¢/script>
mashup-common-general-runtine. is3 v=9.1.6"></scripts
sre=". /mashup-runtine. is? v=9.1.6"></script>

. onmon-widgets-shared. js?

Common/mashup-vendor-shared. js?

=9.1.6"></script>
untime.js2 v=9.1.6"></script>

<script type="module" src="../Common/wc/lib/ptcswidgets.bundle.is"s</script>
¥ cscript type="text/javascript™>.</script>

P cscript type="text/javascript"r.</script>

- *** MANAGED SECTION DO NOT EDIT ***
<!-- BEGIN_OPTIMIZED_JS -->
text/javascript” charset="UTF-8" src: 8220803 134824.75"></script>

<script id="widgeturapper-action-bar” type="module" src="/Thinguorx/extensions/action-bar/action-ber.js" crossorigin="use-credentisls”></script>

<script id="widgetwrapper-ptc-nav-attributes-web-element” typ: Thin i ‘ptc-nav-attributes-web-element/ptc-nav-attributes-web-element.js" crossorigi
<script id="widgeturapper-ptc-nav-item-identity-ueb-elenent” type="module” src="/Thinguor: nsions/pte-nav-iten-identity-web-element/ptc-nav-ten-identsty-ueb-elenent . j
<script id="widgeturapper-ptc-nav-named-conig" type="module” src="/Thinguorx/extensions/ptc-nay-nemed- config/pte-ney-named-config.is" crossorigin="use-credentials"></scripts
<script id="widgetwrapper-ptc-nav-progress-web-element” type="module ‘Thingworx, nsions/ptc-nav-progre ptc-nav-progr | crossorigi
<script id="widgetwrapper-ptc-nav-tiles-web-element” type="module" src="/Thingworx/extensions/ptc-nav-tiles-web-element/ptc-nav-tiles-web-element.js"

<!-- END_OPTIMIZED_JS --»

+ MANAGED SECTION DO NOT EDIT *#+ -->
- BEGIN_EXTENSION_SCRIPTS
<1-- END_EXTENSION_SCRIPTS

>
<script types"text/javascript"s window.define = windon.defineBackup; </script>

<l i

popover-menu” class="papover-menu dropdcun-menu”></ul>
<scriptowindow.defineBackup = window. define;window.define = undefined;c/script>
¢script type="text/javascript® src-"../Commo ions/ZF PlotlyChart/ui/ZF PlotlyChartfinclude/ZF PlotlyChart/plotly.ds"»</script>
<scriptowindow.define = window.defineBackup;</script>
js-plotly-tester” sxmlns="http://uww.13.0rg/2008/5ve" xmlnsixlink="http: //ww.u3.0rg/1999/x1ink" style

¥ cptes-focus-overlay id="ptes-focus-overlay” style="gisplay: none:
=+ P#shadow-root (open) == $8

</ptes—focus-overlay>
</body>

> <sve i

positi

p-integration data-grammar: aot="true"

[SF
</html>

After clicking Reload

<MtAL XRInS="HELD!/ /e, w3 .0FE/ 1999 XNRL">
» <heads..</heac>
¥<body ige"runtive” class"pc From-builoer” styles"DacKground: SCSCICE; Filter: none;" Gata-new-gr-c-s-check-103ded="14.1073.8" data-gr-ext-installed>
* <aiy classe"runtime-wrapoer”s.</atv>
» iy 10="wasnup-toolbar-resolution” styles
» coiv 1a="generic-entity-picker™ styles"gisplay:none; .c/div>
<seript types"text/Javascript® sree”,/mashyp-vendor-cuntime, 452 ved 1.67>¢/scriot>
»<script typestext/Javascript™¢/scripty
<script type"text/Javascript™ srce",/advanced-widgets-runtine-ore, 352 v=9.1,6">¢/scrioty
<script types"text/Javascript™ srce”,./Common/mashun-vendar-shared,Js2 ¥=3.1.6">¢/scrigt>
<seript typestext/Javascript® secs” o tungle 52 =-2,0,6"</scrioty
Cscript types"text/Javascript® srce”,/agvanced-widgets-bundle. 152 v=,1.6%¢/5cript>
<script typestext/javasceipt™ sece” atiee-00st 152 v=9.1.6"5</seripts
<script types"text/Javascript® Sres",/aashup-common-general-runting, 157 v=3,1,6"></5cripts
<script types*text/Javascriot® sece,/mashup-cuatine 1s) v=3,1.673¢/scrigt>
<script typestext/Javascriot® srce” g 20,452 4=3,1,6"¢/seript>
<seript types"text/javaseriot” sree",/saanue-common-nidests-cuntiss, 52 v=9,1,6">¢/seripty
<script types"module” srce*,./Common/ic/1ib/oolvaer. bundle, i5™></scriot>
<script types"mosule” src ip/otcsuldgens bungle, J5">¢/script>
» cserint types"text/Javascript™>.c/seript>
»cscript types“text/javascript™yuc/script>
€1e- %+ WANAGED SECTION DO NOT EDIT *++ --3
<1-- BEGIN OPTINIZED_JS -->

¢script types"text/javascriot™ charset="UTF-8" src==is/CoshinecExtensions. 20220803 134024, 15"></script>

<seript 10="widgeturapper-action-bar” type="module” src="/Thingwor: ctign-var/action-bar, 5" crossorigineuse-credentials™></scrist>

<seript do="wldg " type="podule™ srce/Tninguer: 1003 /01C-nay- a8t Jenent/otc-nav-aters lement,$3” crossoelginetuse-credentials™s¢/serists

<seript i gt 4 " types"nodule” src="/Iningworx/extensions/ iten-igents ) G it 5 gin=" "s</seripts
<script ide"widgeturapper-ptc-nay-named-config” types"sodule” srce"Ininguorx/ Fiel 35 gine" >¢/scriots

<script ide"widgeturaoper-pre-nay-progress-web-elesent™ typesmodule® src"/Iningwerx/extensians/ot ogress cose 2 15" gineuse-cresentials=></scripts

<seript ids*widgeturaoper-pte-nay-tiles-wet-element” types"eodule” src="/Thinguar 2 -nay-t4) [pt-nay-tiles-nep-slensnt, ds® crossorigine"use-credentisls®></scristy

- END_0PTIN: -
1-- %%+ HANAGED SECTION DO NOT EDIT **
<1-~ BEGIN_EXTENSION_SCRIPTS -
<1~ END_EXTENSION_SCRIPTS -->
<script typestext/javascript™ window.deflne = window.defineBackuo; </scripts
<ul ids"popover-menu® classs"popover-menu dropdoun-mend®></ul>
aser - cesine - iot>
<script typestext/Javascript® sres LG [2E 2181 4Chart/ul/ZE PlOtIvChart /Ancluge/ 2 PlOtIyChart/a2atly, 57> </serdpts
<seriptouindon.define = window.defineBackup;</scripts
®csvg 10n"35-plotly-tester™ xnlns="nTto://mew.i3.OrE/2000/SVE" Srlns :x1inks"hEtp: //wm,w3.008/1999/X1inK" styles"positi
¥ cptes-focus-overday Lo="ptes-focus-overlay” styles"display: none;™>
* #shadow-root (open)
m bastylercc/styles == 50
«iptes-focus-overlay>

absolute; left: -10000px; top: -100090x; width: 9000ox; helgnt: 9000px; :-index: 1

<seript types srest, seripty
aPe 4 Candon.

</body>
» <grammarly-desktop-integration cata-gremmer
</nte1>

shadow-roots"true®>.</gramarly-desktop-integration>

“use-credentials”y</scripty
crossorigin="use-credentials”></script>

use-credentials”
wse-credentials"></scripty

absolute; left: -100@00x; top: -108000x; width: 9088ox; height: 9808px; z-index: 13" ru</sver




